XOX 71"7 '010 2,28 naw .7"02

— WD WRW 929 P23 RN NN
Rather say, they are liable, and Rabi Shimon exempts them

Overview
The %7723 reversed the Xn»92, which stated 2% " 10D 5773 HW 71p WY 2w
to read, 701 W"N 7721, Our MOIN clarifies this case.
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And this Xn*72 is discussing a heavy weaver’s reed, so it is a case of >'"R 113K 77,

Summary
The o011 are MXWYW 221w 211 only if it is *"X 711 °"X AT

Thinking it over
Why does no01n assume that it is in a case of "X 1"11,? perhaps the 2°nom of the Xn>12
is "9, who maintains by 912 711 912> 77,3 that they are 271?24

! The only case where the 2°»31 (meaning A7 '7) maintains that P21 MXWYW 02w is when it is *"X 1"71. See ‘Thinking
it over’.

2 Especially that this is seemingly unusual that a >773 5w 737 should require two people to carry it (as we see previously
that the X713 assumed that by a >7737 1P there is not a XX MY*w for both of them).

3 See 1,2%.

4 See *n Yw naw.
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